
Tools Needed: 2.5mm and 5mm Hex Key

NOTE: 2-Bike Transfer with passenger side disassembly shown below, disassembly is 
  equivalent for driver side and all Transfer series racks.  

1. Rotate the rack into the trailer position as shown below.  
  NOTE: Ensure the pivot latch bar has fully engaged the pivot bracket before proceeding. 
2. Remove the m4 bolt and m6 bolts retaining the end cap and hinge arm, then slide off the components.  
3. Remove the two m6 bolts retaining the hinge and remove the hinge.    
4. Remove the m6 bolt retaining the front tire cradle and puck, then slide off the components. 
  TIP: Make a note of the tire cradle position to maintain bike position after reinstalling.  
5. Remove the m6 bolt retaining the rear tire cradle and puck, then slide off the components.
  TIP: Make a note of the tire cradle position to maintain bike position after reinstalling.  
6. Reinstall the new rear tire cradle and puck with the provided hardware, then all remaining components in the reverse order of dissasembly.
  NOTE: Be careful not to overtighten the bolts during installation.    

1-877-822-5828
info@kuatracks.comIN-0066

22

4 3
3

5


